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3.	Bez	 Prozent-	&	Zinsrechnen	 Lösungen	AB	2	
	

1. 200 ∙ 0,3 = 60	𝑧𝑢	𝐹𝑢𝑠𝑠	

𝐸𝑠	𝑏𝑙𝑒𝑖𝑏𝑒𝑛	140.	 140 ∙ 0,6 = 84	𝑘𝑜𝑚𝑚𝑒𝑛	𝑚𝑖𝑡	𝑑𝑒𝑚	𝑉𝑒𝑙𝑜	

𝐸𝑠	𝑏𝑙𝑒𝑖𝑏𝑒𝑛	56.	 56 ∙ !
"
= 48	𝑘𝑜𝑚𝑚𝑒𝑛	𝑚𝑖𝑡	𝑑𝑒𝑚	𝐵𝑢𝑠	

𝐸𝑠	𝑏𝑙𝑒𝑖𝑏𝑒𝑛	8	𝑑𝑖𝑒	𝑚𝑖𝑡	𝑑𝑒𝑚	𝑀𝑜𝑓𝑎	𝑘𝑜𝑚𝑚𝑒𝑛.	

	

2. !
#$
= 0,125 = 12,5%	𝐺𝑒𝑤𝑖𝑛𝑛	 !

%#
= 0, 1E = 11,1%	𝑉𝑒𝑟𝑙𝑢𝑠𝑡	

	

3. 21&000	𝐹𝑟. =G 5%				𝑑𝑎𝑠	ℎ𝑒𝑖𝑠𝑠𝑡:				100%	 =G 	420&000	𝐹𝑟.		

𝑑𝑖𝑒𝑠	𝑒𝑟𝑔𝑖𝑏𝑡	𝑍'	)*+,-+ = 1′750.−𝐹𝑟.	

𝑍'	./0,,-+ = 1′625.−𝐹𝑟.	
1!2%
1"%3

= 0,929…	 𝐷𝑖𝑒𝑠	𝑠𝑖𝑛𝑑	7,1%	𝑤𝑒𝑛𝑖𝑔𝑒𝑟.	

	
4. Anzahlung:	800.-	Fr.	

Ratenzahlungen: 5 ∙ 0,65 ∙ 800 = 2&600.−𝐹𝑟.	 Total:	3'400.-	Fr.	
200
3200 = 0,0625 = 6,25%	

	
5. Der	Jahreszins	darf	nicht	mehr	als	CHF	17‘640.–	betragen.	Das	entspricht	einer	Hypothek	

von	etwa	CHF	370‘000.–.	
	
6. A	 13,137%	

B	 0,416%	
C	 93.69	Fr.	
D	 327.91	Fr.	

	
7. Der	Kunde	bezahlt	insgesamt	CHF	92‘581.25	zurück.	
	
8. Betrag	bei	Barzahlung:	1990Fr.	∙	0,97	=	1930.30Fr.	

	
Betrag	mit	Raten:	 Anzahlung:		 1990Fr.	∙	0,2		 =	398Fr.	
	 Raten:		 24	∙	75Fr.		 =	1800Fr.	
	 Total:		 1800Fr.	+	398Fr.		=	2198Fr.	
	
2198Fr.	–	1930.30Fr	=	267.70Fr.	 2!"."

1563.6
= 0,1387…	

	
Der	von	Frau	Steiger	bezahlte	Betrag	ist	gerundet	13,9%	höher.	
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9. 	

Katalogpreis	 x	

Amortisation:	 0,2x	

Steuern:	 36	

Verzinsung:	 0,035	∙	0,5x	=	0,0175x	

Versicherung:	 143,90	

Treibstoff:	 50	∙	2,7	∙	1,67	=	225,45	

Unterhalt:	 0,1x	
	

	 0,2𝑥 + 36 + 0,0175𝑥 + 143,9 + 225,45 + 0,1𝑥	 =	 12 ∙ 130	
	 0,3175𝑥 + 405,35	 =	 1560	 /−405,35	
	 0,3175𝑥	 =	 1154,65	 /: 0,3175	
	 𝑥	 =	 3636,69...	 /: 0,3175	
	
	 Er	kann	maximal	3600Fr.	für	einen	neuen	Roller	aufwenden.	
	


